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T.E & SCERT Exam 2023

(CANDIDATE RESPONSE SHEET)
Roll No
App No

Name

Paper/Subject D.El.Ed(Odia)
Exam Date 30 May 2023
Exam Slot 2

Passage:
The questions are based on a short passage. Read the passage below to answer
the questions. Choose the correct answer from the four listed choices.

India is agriculture intensive country. As per one survey, 65% of total workforce belongs to
agriculture sector. But more often we hear suicide cases of farmers from different regions.
Naturally the question arises —why not our farmer brothers are happy? The reasons are many.

Drought in many parts of the country has hit crops, and lower world commaodity prices have added
to the farmers' plight. More than half of Indian farmers are deep in debt, despite numerous loan
write-offs by successive governments. The Indian Government action to increase spending on
irrigation and crop insurance is not enough to end the cycle of indebtedness that has led to
thousands of farmer suicides. Farmers' groups have been demanding better monsoon forecasts,
bigger fertilizer subsidies and a state-funded insurance scheme for all crops, to help farmers
improve yields and prevent crop failures.

Activist Kishore Tiwari, in a plan submitted to the Maharashtra Government, has recommended
direct cash subsidies for farmers instead of the current indirect agriculture credit. He also suggested
the central and state governments help underwrite full crop insurance cover and promote the
adoption of organic farming methods in drought-prone districts, to help restore soil quality and
benefit from the higher price of organic produce, even though yields are lower.

Growing population fragmented the agriculture land in such small pieces that scientific farming
most of the times are not economical. Individually farmers have invested in agriculture in fracture
but same has been proved scanty in new age of technology.

Question ID:2011
Topic Name:SECTION-I English Language

Question: \What according to the passage could be the reason for farmers’ ‘being in debt’?

A Numerous loan write-offs by successive governments
B Crops have been hit by drought in many parts of the country Correct Answer
€ Incidents that led to thousands of farmer suicides

D |ndian farmers get the direct cash subsidies

Answer Given By Candidate: B

Question 1D:2012
Topic Name:SECTION-I English Language

Question: Which of the following may mitigate the farmers owe as demanded by their groups?

* Better monsoon forecasts

B Bigger fertilizer subsidies

‘
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C State-funded insurance scheme for all crops
D
All of the above Correct Answer

Answer Given By Candidate:D

Question ID:2013
Topic Name:SECTION-I English Language

Question: What recommendation did activist Kishore Tiwari not give in a plan submitted to the
Maharashtra Government?

>

Direct cash subsidies instead of the indirect agriculture subsidies.

=

Central and State governments help underwrite full crop insurance cover.

~

Organic farming in drought-prone districts to benefit from their higher prices.

=]

Increase world commodity prices through discussion with world organisations .
Correct Answer

Answer Given By Candidate: A

Question 1D:2014
Topic Name:SECTION-I English Language

Question: What is the synonym of “Bizarre”?

A Normal
B |ntimate
C Frequent
D Freakish Correct Answer

Answer Given By Candidate:Not Attempted

Question ID:2015
Topic Name:SECTION-I English Language

Question: \o/hat is the synonym of “eerie”?
A

Uncanny Correct Answer
B Earthly
C Routine

D" Delectable

Answer Given By Candidate:Not Attempted

Question ID:2016
Topic Name:SECTION-I English Language

Question: \yrhat js the antonym of the word 'Gentle'?
A Brutal Correct Answer

B Humane

€ Moderate

D |enient

Answer Given By Candidate: D

Question ID:2017
Topic Name:SECTION-I English Language
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Question: Sa|act the meaning of the following idiom/phrase:
“Picks holes in”.

A Finds fault with Correct Answer

B Knows thoroughly

€ Makes a poor performance

D Takes shortcuts

Answer Given By Candidate:Not Attempted

Question 1D:2018

Topic Name:SECTION-I English Language

Question: 5a|act the meaning of the following idiom/phrase:
“To eat humble pie”.

A To be calm in manner

B To make a humble apology and accept humiliation Cotrect Answer

C To be revolting in nature

D To be hungry in nature

Answer Given By Candidate:Not Attempted

Question 1D:2019
Topic Name:SECTION-I English Language

Question: | nsert the correct article in the blank given:

Sheela is reading book that was given by her friend.
A an
B the Correct Answer
C 3

D Not Article Required

Answer Given By Candidate:C

Question 1D:20110
Topic Name:SECTION-I English Language

Question: |nsert the correct preposition in the blank given:

We talked the solution.
A at
B above
C below
D about Correct Answer

Answer Given By Candidate:D

Question 1D:20111
Topiec Name:SECTION-I Education and General Awareness
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Question: \arhat is “Padhna Likhna Abhiyan” scheme?
"d@Ql 6MEIQl 2ARIQ" ARG KEI?

A Read and Write exercise for nursery children

edon dnia IR QUIIE 1R IR° 6mElg
B Sunday schooling scheme
AT YU S8 6ARG

C Extra-curricular activities for high schools
@I@%@%l@ﬁ? aiQ A04YFE UGS qlidueria

D Adult literacy Scheme
QS dIRG| Edle]

Answer Given By Candidate: A

Correct Answer

Question ID:20112
Topic Name:SECTION-1 Education and General Awareness
Question:

" What is the full-form of NCERT?
NCERT @ <I€1¢} @l @12

A National Council of Educational Revolution in Training

JEIfE6a RIS S8 TG99 IQEE

B National Conference of Educational Research and Training
RIG1C §9 F169WEl B I AER1

€ National Council of Educational Research and Training

@B S8 F6LI WS B gSigé agQ

Correct Answer

National Committee for Educational Research and Training
RIL1E S8l FI6QVEN B NS KT

Answer Given By Candidate: C

Question ID:20113
Topic Name:SECTION-I Education and General Awareness

Qucstion:what is a “Xylem”?
"RIEmE" @'El?
A |tis a vascular tissue

gl 99 QUGMIN &g 2169

Correct Answer

B |t is a nervous tissue
el 9 gIg ©'g

C Itis an excretory organ

9gl 99 999 2gP

D |t is a waterbody

g2 9 @ slola

Answer Given By Candidate: A

‘
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Question 1D:20114
Topic Name:SECTION-I Education and General Awareness
Question:
Where is India’s first Open University located?

AUASR YUEl €8 TIIUIRA 6FQ0I6R AL ?

A Delhi
QR1

B Chennai (Madras)
609Im (¢1LI)

C Hyderabad
LMY

Correct Answer

D Mumbai (Bombay)
UMD (QEF)

Answer Given By Candidate:C

Question ID:20115
Topic Name:SECTION-I Education and General Awareness

Question: The Tashkent agreement was signed between India and

QUG I9° ERIGR BIF6RE 9B YN
6LINAMI |

A USA
USA (§19€19)

B Russia

X
C Pakistan

A9l

Correct Answer

D China

olmel

Answer Given By Candidate:Not Attempted

Question ID:20116
Topic Name:SECTION-I Reasoning
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Question: Statement:
1. The price of two apples is the same as that of one mango.
2. The price of two mangoes is the same as that of one avocado.
3. The price of apples is more than the price of avocadoes.
If statements 1 and 2 are TRUE, what can you say about statement 37
Q96:
1. 9% 646 Fgmy 69115 2IFL 9L 9IS |
2. @RG AN MY 661159 AIERNURCE! DL DAIS |
3. 2IeWIKIELIRQ MY OIQ 6B FfmY 2ie |

4G 996 1 99° 2 d6Y A6, 6668 §9F 3 TUACR 28 /'8l FTANECK?

A Statement 3 is definitely TRUE.

Q90 3 QA QU6 DY 26T |

Statement 3 either true or false.
QQE 3 94 @l Tl

€ Statement 3 is definitely FALSE.
Q9% 3 QEE QINER f12Yl 269

Corréct Answer

D Statement 3 may not be FALSE.
Q@96 3 f2M 6LlReaIcR|

Answer Given By Candidate: Not Attempted

Question 1D:20117
Topic Name:SECTION-I Reasoning

Question: |5 3 certain code, 'APPLE' is written as '"*$S$#&' and ‘MANGO’ is written as
'A*®]]A', then how is 'LEMON' written in that code?

95 0GR 96Te6R PNAM'G*SS#&' 9Q° ‘CHICHPI'G ' A *#J)A" 6MIIDIN,
60639 699 6@B6D,'6MEIQ" 6RE16 6malIKNg?

A HRASA
HRANASA

B 42 A0S
H& ANS

Correct Answer

C #8 AMJ
HE A M
D wA&S
HAR®

Answer Given By Candidate: B

‘
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Question ID:20118
Topic Name:SECTION-1 Reasoning,
Question: |n 3 certain code, 'LEARNING' is written as '160'. How will 'PREPARATION'

be written in that code?

97 GER A6@E69, 'ME° G '160' MUES 6RTIAIRR | 698 A6FS6R
‘JA6CALY FAR 6RSNAG?
A 248

248

B 124
124
C 266

266 Correct Answer

D 133
133

Answer Given By Candidate:Not Attempted

Question ID:20119
Topic Name:SECTION-I Reasoning

Question: \What should come at the place of question mark (?) in the following

number series?
40, 34, 37,31, 34,?
QeImeie 9ol 6816N6R ETE (2) BIN6R @6l 2191 Q5G?

40, 34,37, 31, 34, ?

A 28 Correct Answer
28
B 37
37
C 31
31
D 40
40

Answer Given By Candidate: A

Question 1D:20120
Topic Name:SECTION-1 Reasoning

Question: What should come at the place of question mark (?) in the following letter series?
L,O,M,P,N,?

QEmele AW 666169 oG (?) HIN6a @'d 2ITQ| *E6?

L,O,M,P,N,?

A .
Q Correct Answer

Q
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L

Answer Given By Candidate: A

Question ID:20121
Topic Name:SECTION-I Teaching Aptitude
Question: Academic learning time is:

6HTT FNE DEIE 6L QR

A Actively engaged time in which students show a high

. . Correct Answer
success learning transformation.

AT UTER FEARS LI 6IR2I6R RIBFNEE 9K OB
APRGI S96 A998 QSIS |

B Time in which students are actively involved.

6416 AAD6R RASCN6E AT AR AR §2AT |

C Allocated time with academic subjects and rote
memorization.

66lRG QUL 996 A0 ANER ARG IL° YR8 @AY 168 ARG

Time scheduled for an academic subject

4216869 T8 AR SN0 Qe

Answer Given By Candidate: A

]Q{:I[f:c"::r:llsg:'zzlzl(}r\ll Teaching Aptitude

Question: Stydents should be isolated to correct the misconceptions and correct
it, then teach students to do this by themselves. We can all learn from
mistakes. This

fm NG PR B ILIG PITSI AN RISLILIT ARG A0S A6E,

GI'I6Q RISVILIG G660 9Ll @99Ig SIS 2I6el 7169 PMQ SRS

%

A Engages the student in self-assessment and self- evaluation

218 2Ig-FRYIAES 99° 2Ig-FRIINGER FEARS 69

Correct Answer

B Develops pride in students to better themselves with over confidence.
APRIS 2RI ATe TR AGE A9 dIN VISBIS1E FRIER oI A7
@ew |

C Creates sympathy and students learn better.

dLIGRE I8 969 99° BIGCIER QM AFER SIS |

D Help teacher to be free from his/her duties.
ﬁﬂﬁ?@[ ol G‘G‘i‘a‘q@ ¢]® 69916 LIy a9 |

Answer Given By Candidate: A

Question ID:20123
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: Tachnigues used by teachers to teach include:
FFQIE AN FYKENEE QUSLIR FRAK| 6FNIRGSF ERIEA ALR:

A Lecture

dI0 delmS|

B Group Work
6ol QY

C |nteractive Lecture
A9 9L QUNE

D All of the Above
QAUCAR 9919 Correct Answer

Answer Given By Candidate:B

Question ID:20124
Topic Name:SECTION-I Teaching Aptitude

Question: Teachers are responsible for the holistic development of children.
Lesson plans should be based on:

Ine 9999 9916 AR SNRCIEE QI | A0 6AING 8% FIRYe
QUER 2RIIVG 6291 ATS:

A All three domains of learning

SIFNER C6RIT 6Q1661T

Correct Answer

B Only Cognitive domain
6aem RN 611651

Only Affective domain

69M LIRYd 6LI6517

Only Psychomotor domain

EQen dINERIEEITRN 66I6EIR

Answer Given By Candidate: A

(l)c:l;zlllsgn:lzé:'ltzflt)Nl Teaching Aptitude
Question: A learning strategy is a learner's way to organize and use a

specific range of skills to learn curriculum content or

complete other tasks more efficiently and effectively in

a classroom setting as well as in non-academic settings. It is

hence important to:
97 86 QER1E 6908 99 Ga% QUEIg 9°6I06 FR91 ¥9° QISLIR KRS
QI QG LI AIOYFE SRS SRl Qe 656N19)E 696° G2l Ad-6518e
645769 21aY G?Iﬁ‘l‘o]_@iii 2 LR DE I° Ul wleeal Q‘?ﬁ;

@owIN | 604 98! 9oy

A memorize the concepts and use lecture based method to
expand our repertoire in the classroom
&Jlfalé]l?g]_@(ii ol @olg 99° 69/6l19)L60l 2lF1ol QQQE‘@_ IR Q@Qlﬁ QRGel
QRq 996 QU9LIR F0g

‘
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B explore evidence-informed pedagogical ideas that have the

potential to expand our repertoire in the classroom.

gelg-goe da19e AadIZgAfle aag LIg 65619962 2if gedas
TR KRN VG| AR |

€ Use question probing method to expand our repertoire in
the classroom

666NGE6Q 2IFIR dedaqg YR 99919 d9 2g9Ie d86 QULTIR 999G

D Both option B and C

QU TaF 9 99° 9 Correct Answer
Answer Given By Candidate:D
Question ID:20126

Topic Name:SECTION-I Teaching Aptitude
Question: Djscipline problems are most likely to occur during:

GErRl @6 DAY 9T DO96R AERIR ARG 2R 2l

A Lecture
Emeol
B Questioning

g4 9919Sl
C Transitions
Aoeae

Correct Answer

D Seatwork

ag aidy

Answer Given By Candidate: A

Question ID:20127
Topic Name:SECTION-I Teaching Aptitude

Question: Sehools primarily contribute to community development
by teaching students the value of civic engagement as:

QQUIRAGCR LSS RISFIRT FIF0G GEAURAR MY SR 6Tl
FRISIER 6AIFIGIT FAE:

A They impart leadership abilities such as how to organize
initiatives that will benefit the neighborhood.

697165 60G8 Q¥F] 9IR 498 640G FUR A96RUges 9°6108
RAULS €Ll A6GIsNg AAYE |99 |

B They show how to collaborate with community members
to promote growth.

2R9Eq 69I91E6 K091 OIn AN deiFew 996 AUt 99649
K069 Glgl 690168 6QHIR2IT |

C Both Option A and Option B )
@@ﬂ QQ‘& Q \‘EQO QQ@ %1 ( orrect }\]'ISV\C]

D Option A only
6a9R 999 @

Answer Given By Candidate:C

‘
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Question 1D:20128
Topic Name:SECTION-I Teaching Aptitude
Question: programmes of the school can be related to the life and the

work of the people among whom it exists and functions. This
results in transmission, preservation, assimilation and

enrichment of culture. These
AR UG 698 6MIRAIRE K199 99° QI 986 K66 6TINUER
6L F1RI6Q YL 2R 9Q° QI R6% | 98 FIR L°YER 9AIR, 2°AE,
aelap 99° 998 6QInelg | 9gEe

A Community resources gives first-hand experiences to the child.

colg Qn Sigq dIIfa 2AGHE 6aR2 |

B Develop proper concepts about various aspects of processes of
community life in children.
NI 6ClIY MYTR IGAR QG @6 FVACA QUYD AN QES

Qg |
€ Make learning informal and interesting.
§R1g 26910919 9e° AIedana 2ag |

D All of the above.
QAR L1 |

Answer Given By Candidate:D

Correct Answer

Question 1D:20129
Topic Name:SECTION-I Teaching Aptitude
Question: Teachers have recognized that what works well for one

student does not for the other. They have very few ways to
test and make sure that different skill levels are being
evaluated. Hence it is essential to:

FARCN6E IR SRS 64165159 S8 AR IS O A 6] BIL! AGY
2o U g6¢ | FEG QY6I OQ JRUINE 628 @ QIE B1L! A8l K0S 98°
aas A0S dIR 62aNee QISR QLE QF] QUIL 28 | 669 9Ll KRN 26S:

A Give differentiated instruction in class.
666N6R ©1g, O 8l GG |

B Be aware of different kinds of multiple intelligences
0g dFI9R YGRS 98 g6 26508 QEg

C Be aware of different teaching styles
QUG SMIQIR 65ln1 9% 60T QLG

D All the above
LUERW el

Answer Given By Candidate: A

Correct Answer

Question 1D:20130
Topic Name:SECTION-I Teaching Aptitude

‘
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Question: Eyery class is a ‘mixed ability’ class and there will be a range

of learning needs including identified Special need students

and those with sky high prior attainment. We need to

anticipate this in our planning with questions, tasks and

problem-sets that allow:
d624YS 6561 628 9a 'AF6 Q@AS!' 6541 99° Y269 §oe dladiatl 2l
DB 99° 2Rt L\ Q}}% a19 2lQl ReRlLlar d6rle 2eaa S84l
2legiac! Ee | alelq 94, Qlly 9ge elll-649 A96 ZIF1A 6KIRIeR
gl 2190 K9 21964YS KIL! AT Gd:

A Different stages and levels of rote memorization.

8 aduig 9e° 90 9EFR LR

B To Construct good practice tasks that support this scenario
which is a key element of curriculum design.
dIoYg¢l CRINER 9Q 4ol @dlQla g Yolig agele @29l LRl ekl
qIdy Geligl aQQl |

Correct Answer

C Low expectations and short-term learning goals.
@e] 2l 99° €Y @lnla SINS MY |

D Us to focus on high achievers.

2iesl @6 APael YIaRlola QU6 2R 6991 REE |
Answer Given By Candidate: B
Question 1D:20131

Topic Name:SECTION-1I Odia Language

IR, SIR, Clag), ARQ -YFRIQ B 19T F9?

L gigell

B ol

¢ rlagl

= Ellﬁgl Correct Answer
Answer Given By Candidate:C

Question 1D:20132

Topic Name:SECTION-II Odia Language

et QIg, AR, 96Y, JL-RgEe ArIQ Gg et @92
b g

B Q@ Correct Answer
€ agy

 gea

Answer Given By Candidate: D

Question 1D:20133
Topic Name:SECTION-1I Odia Language
Question: —

YeRell, AR, IR 6ITAL, QG- NGER FRIQ g 68T @97

‘
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A aeqdll

b Qe

¢ QIQ eeIRAe

¥ Q|9@ Correct Answer
Answer Given By Candidate:Not Attempted

Question ID:20134
Topic Name:SECTION-II Odia Language

Qe QU+ =QQuRe gRIZINER Qg
QAge §a8 &

‘ARG

" aARa

¢ aRd

D 2R Correct Answer

Answer Given By Candidate:D

Question ID:20135
Topic Name:SECTION-II Odia Language

T QQRIR S969 689 IoUR 6LIS 6TIRE?
)

B Q2R Correct Answer

2@

" QR

Ansvr Given By Candidaid

Question 1D:20136
Topie Name:SECTION-II Odia Language

Qo 2116 JEYRL 62161 6TIRYSI 61N FEFI I

60 ?
* gaud
B 08

¢ 6erelél Correct Answer
> gqgl&iel

Answer Given By Candidate:C

Question ID:20137
Topic Name:SECTION-II Odia Language

Question: e o -
‘BT 60N Q F1LIWNING YL 659 IRl Qk?

A Qﬂl e Correct Answer
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B RIRQIAN
¢ ORAIER

D =
ool g8
Answer Given By Candidate: B

Question 1D:20138
Topic Name:SECTION-1I Odia Language

90 QeleR SIFa IR BHIRS 968G 698 998 FARNIE I' 08
QIRUER QUL 6TIRYQ QETQR §6¢1 @'6l QEM?

* QeI /aQl

b @Q@ 69S  Correct Answer
¢ Qual &l

P a@ql

Answer Given By Candidate: B

Question 1D:20139
Topic Name:SECTION-1I Odia Language
Question: —~

T82C 9R SR F64R T CRIRAIGNTR 28 /"6
* GgaIC 6969 NITER 4R G4

P gQ FIRIEQ QIR

¢ 0f AIRQ SI9IE FEIG 2ITEERS

" d9¢ 9é YIITR IOQ REIUEL  Correct Answer

Answer Given By Candidate:D

Question 1D:20140
Topic Name:SECTION-II Odia Language

Question: god) a@a 6016 DGeER A8 ?
QN > QIR

A
SR Correct Answer

B opgsnaen

C aeren aen

D qeerad

Answer Given By Candidate:Not Attempted

Question ID:20141

Topic Name:SECTION-II Odia Language

Question: D i -
@6l datl 64615 doReR Qaceg ?
i > Aol

A age fadia
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B qadadia Correct Answer
C Quen fadia

D QRImeR
Answer Given By Candidate:Not Attempted
Question 1D:20142
Topic Name:SECTION-IT Odia Language
Question: s o

B2 QTR ‘2’ AURT 66 6Ia ?
A Qé*lq

B adey

&
ae Correct Answer

D Qs

Answer Given By Candidate:C

Question ID:20143
Topic Name:SECTION-II Odia Language

Question: 60CITE 900 6aa O6Eas ?
65lRRI IR QUG QIF |

A adeife

B opre

c
@R Correct Answer

=]

Q@

Answer Given By Candidate:C

Question 1D:20144
Topiec Name:SECTION-II Odia Language

Question: coMEA AGT 606 FEEITE! ?
goaal 6,18 Q6T QIF |

A/ QERISR

B Gae Correct Answer

C Seua

D oreHRIoR

Answer Given By Candidate: B

Question ID:20145
Topic Name:SECTION-II Odia Language

Question: cOcITE 0 6RE F6ESS! ?
QIR 1660 816 G2 AIF |
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D Gae Correct Answer

Answer Given By Candidate: D

Question 1D:20191

Topic Name:SECTION-II Mathematics

Question: A merchant purchased 80 kg of apples for Rs.600. He then sold them at the rate
of Rs. 9.50 per kg. Find the profit percent.

@66 QYQLILL 80 kg 696 600 TRIER FE6M | YLIUER 64 6€9)%q F6ml

A=l 9.50 9@ @EQ BF Q‘EIZJGG]I QR geas a8Ie @G|

A 7.50%
7.50%

B 26.67%

26.67% Correct Answer
. 0

C 27.77%
27.77%

D 25%
25%
Answer Given By Candidate: B

Question ID:20192
Topic Name:SECTION-I1 Mathematics

Question: \1andana paid Rs. 8640 as interest on.a loan she took for 6 years, at 12% rate of
simple interest. What was the principal?

Qgql 6 9d QIR 69@2/Q1 IR YAl QIQFER 12% LINER 8640 Gl 640

Q0RIEM| (MR 696% 2mI?

A Rs. 12000
Rs. 12000 Correct Answer

B Rs. 15000
Rs. 15000

C Rs. 10000
Rs. 10000

D Rs. 12500
Rs. 12500

Answer Given By Candidate: A

Question 1D:20193
Topic Name:SECTION-IT Mathematics

Question: The compound interest on Rs. 6000 at 20% per annum for 1% years,

compounded half yearly is:
1% Qd QIR QIES 20% LIN6R 6000 TR AL6R 6TTR e, 25-918e e
gl 6RA&:

A Rs. 1986
Rs. 1986

Correct Answer

B Rs, 7986
Rs. 7986
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C Rs. 1800
Rs. 1800

D Rs. 7800
Rs. 7800

Answer Given By Candidate: D

Question 1D:20194

Topic Name:SECTION-II Mathematics

Question: " "
If 4 bells ring at an interval of 3sec, 6sec, 12sec and 15sec then at

what time do the bells ring together?

€Q 3 69694, 6 646946), 12 6466l B 15 69696 UFLUINER 45
Q4 QUR2IN 6969 69 L6 U4 FR2UNG?
\ 10sec

10 691694

B 15sec
15 GLI6qe)

C 60sec
60 646TE

Correct Answer

12sec

12 6469¢

Answer Given By Candidate:C

Question ID:20195
Topic Name:SECTION-II Mathematics
Question:

What should be subtracted from 20, 32, 25, and 42 to get the numbers in
a proportion?

A diven 9°6Hl i< aiR 20,32,2599° 42 Q Q'6l €I aUdel

Q6e?

.’\ 8
Correet Answer

C 12
12

D g
5

Answer Given By Candidate: A

Question 1D:20196
Topic Name:SECTION-II Mathematics
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Question: A hoy has a bag which contains Rs. 1, 50 paisa and 25 paisa coins and the
ratio of the number of coinsis 1:1/2 : 1/3 . If the boy has total amount of
1120, then find the number of 50 paisa coins.

W6él Qe dIsles Ya Qo] 2l 69‘521661 1.50 9'atl \9Q° 25 AWl €9
21N 9Q° €91 9°6IQ 294IP 6L9& 1:1/2 : 1/3 | G QIRGQ Q1L
ARG 1120, 6969 50 dRdl €91 A°6lYl QI8 FAG |

A 210
210

Correct Answer

B 420
420

560
560

b 280
280

Answer Given By Candidate:A

Question ID:20197
Topic Name:SECTION-1I Mathematics
Question: In a parallelogram ABCD, the opposite angles are:

97 9180w 688 ABCD 60, SUE 6R18IgEw 6aml:

A Complementary

299G

B Equal
el

Correct Answer

C Supplementary
EJ‘S!Q@G?
D None of the above

QUEDIS FRIQ 651ET Ges

Answer Given By Candidate:B

Question 1D:20198
Topic Name:SECTION-I1 Mathematics
Question: |n triangle ABC, angle A = 60 degrees, angle B = 70 degrees, then angle C is:

SRR ABC 69 6@161 A = 60 Ggl1, 6916 B = 70 &g, SIFIER 6R16l C 6LR&:

A 50 degrees

= Correct Answer
50 Gl orrec e

B 60 degrees
60 G4l

C 70degrees
70 G4l

D 80 degrees
80 Ggl1

Answer Given By Candidate: A

Question ID:20199
Topic Name:SECTION-1I Mathematics

‘
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Question: |n a circle, the chord which passes through the center is called a

9@ 9260, SIfee 69 690 AIR2Ql FIeNA QUIg el |

A Diameter
Qg

B Radius
Quiels

C Arc
QId

Correct Answer

D Tangent
dda

Answer Given By Candidate: A

Question ID:201100
Topic Name:SECTION-II Mathematics
Question: What is the solution of the equation 2x+ 3 =117

2x + 3 = 11 AENQAEIRN DellRIIS &'6l?

A

Correct Answer

> x
1}

4
4
5
5

x x
]

-~
x x
In

I
~No (=2 I =)

X
X

Answer Given By Candidate: A
Question ID:201101
Topic Name:SECTION-II Mathematics
Question: Which of the following systems of equations has no solution?
QINSE AR DEIRT CRI ERADG 6T QARG FIE?
A 2x+3y=7,x-y=4
2x+3y=7 ,x-y=4
B 3x.-6y=9,2x-4y=8
3x-6y=9,2x-4y=8  Correct Answer
C x-y=3,2x-4y=7
X-y=3,2x-4y=7
D 2x+3y=6,4x+6y=12
2x+3y=6,4x+6y=12
Answer Given By Candidate:D

Question 1D:201102
Topic Name:SECTION-1I Mathematics

Question: |f A and B are two sets such that A n B = (3, then which of the following
statements is true?
A9 A9Q° B QE\@' 649 6KIUR@ AN B =0, 6069 g“r;lfnl%l@ @Q@ Sl@ﬁ? £l
699G 98Y?
A A and B have no elements in common
ANQ° B Q69168 QAILIR QAR QIE Correct Answer

‘
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B Aisasubsetof B
A 6LQR B O 4 QU6LY

C Bisasubsetof A
B 6LQE A O 48 Q6L

D AandB are equal

A ¥Q° B 9FIR 298

Answer Given By Candidate: A

Question ID:201103
Topic Name:SECTION-II Mathematics
Question: |f A = {2, 4, 6,8} and B =1{3, 6, 9, 12}, then the cardinality of A U B is:

AT A=1{2,4,6,899°B={3,6,9, 12}, 6569 A U B O QIGLING 62Q&:

A §
5

B 6
6

C y
7 Correct Answer
7

D 8
8

Answer Given By Candidate:C

Question ID:201104
Topie Name:SECTION-II Mathematics
Question: \What is the square of 12?

12 Q 96 96?2

A 124
124

B 134
134

C 144

144 Correct Answer

B 154
154

Answer Given By Candidate:C
Question ID:201105

Topic Name:SECTION-II Mathematics
Question: What is the square of 5x - 2?

5x -2 9 96 9'@?
A 25x2-4
25x% -4

B 25x?+4

25x* +4
C 25x*-20x+4

25%2 - 20x + 4 Correct Answer
D 25x? +20x + 4

25x% +20x + 4

Answer Given By Candidate:C
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Question 1D:201106
Topic Name:SECTION-II Social Science

Question: \Which of the following is not a period of stone age?

FINGS FRIP 6796 IR oI AT G6L?

A Palaeolithic age

1919 9L Lol

B Mesolithic age
F1el dItisl ol

Chalcolithic age
Lle] 99N &%l

Correct Answer

Neolithic age
e g9 4ol

Answer Given By Candidate: B

Question 1D:201107
Topic Name:SECTION-II Social Science
Question: \Who among the following is the court poet of

Harshavardhana?
QOmge frRIQ @9 eUeNeE QORI K92

A Kalidasa

QlRQlg

B Banabhatta
TR AL

Correct Answer

C Aryabhatta
1R

D Ravikirti
—— ¢
AURGN
Answer Given By Candidate:Not Attempted
Question 1D:201108
Topic Name:SECTION-II Social Science
Question: My ch before the Sepoy mutiny an another event of similar

nature had taken place in Khurda of Odisha known as “Paika
Bidroha”. When was this even taken place?

AL F69ILR 9 YR BR4IR 6SIFI6R AN AFER
AR 98 Q96 AFeml FILlg "IN F69IL" 6Q1m §LILIN
| 99G 98l 6969 QTemI?

A 1818
1818

B 1817
1817

C 1819
1819

Correct Answer
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D 1823
1823

Answer Given By Candidate:B
Question 1D:201109
Topic Name:SECTION-II Social Science
estion: ; ; ; i
Question:\\hen did the Indian Education Act come in to force by the
Britishers, by following Macaulay’s minute?

6EI6RI6RT € Fg6lg 2990 90 R°CARENCE NUNGTH
J9l ARG 6968 FIIRIN F6m?

A 1830
1830

B 1840
1840

€ 1835
1835

Correct Answer

D 1825
1825

Answer Given By Candidate:C

Question 1D:201110
Topic Name:SECTION-II Social Science

Question: \When did the constituent assembly meet for the first time
to initiate the process of framing the constitution?

ARG O 999 2108 KRR QIR 2161 29 AR
daRIG 9el 669 QL2mI?

A 9 December,1946
9 P699.9,1946

Correet Answer

B 26 January, 1950
26 iGN, 1950

C 26 November, 1949
26 969N, 1949

D15 August, 1947
15 2I%1%, 1947

Answer Given By Candidate: B

Question 1D:201111
Topic Name:SECTION-II Social Science

Question: \Which one of the following is the chief source of political
powers in India?

FYNGE FRIY 6995 AUASR NRCTFET F1B €3y AL
2697

A The people
cmiaelles

Correct Answer

‘
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B The constitution

ARG

The parliament
€odQ
D The parliament and State legislature

g°9Q 6 QURY RAUFAR

Answer Given By Candidate: D

Question ID:201112
Topic Name:SECTION-II Social Science
Question: The system of Judicial Review in Indian Constitution has

been borrowed from which of the following constitution?

RIRGTA AARJGER QUIG ANV QUSL FYRHS €RIP
69% ARG R GaANS?

A India
WY

B UK
mala

German
adlg

D USA
g

Correct Answer
Answer Given By Candidate: Not A tte mpted

Question ID:201113
Topic Name:SECTION-II Social Science
Question: \Who presides Gramasabha in Odisha as the President of

Panchayat?
A°QIER ARITE RUFTER BGHIER FIFIARNUR 2D G 9?

A Sarapanch
a4

Correct Answer

Wardmember
geaeqy

¢ Samitisabhya
816 gay

D Naib Sarapanch
NS A

Answer Given By Candidate: A

Question ID:201114
Topic Name:SECTION-II Social Science
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Question: \Whgo collects land revenue from village people and
maintains land record at village level?

oy LN GTOIQ @f AURY 2SI FER 9G° FIFILRER
@E 699% A6TH?
A Tahasildar

PLIMIN

B Revenue Inspector(RI) or Patwari

AURY PSR S AFAURT

Correct Answer

€ Sarapanch
a8

Village Zamindar
gifl KRAQIR

Answer Given By Candidate: B

Question ID:201115
Topic Name:SECTION-II Social Science
Question: \Where is the greatest diversity of animal and plant species observed?

a4 6 AEQ dRISR 990IQ 9F GRS 6990I6R 69Y<IG F6m?

A Temperate deciduous forests

$N1621%Y oHE aePm

B Tropical rainforests

(AL (aralal el el I

Correct Answer

C Heavily polluted rivers

2Ie4e 9988 661

D Deserts
CIQIEeT

Answer Given By Candidate:B

Question 1D:201116
Topic Name:SECTION-II Social Science
Question: |ndjz js the largest producer and consumer of:

QIRE 6298 99019 9F QAYITR B AUCRUDI:

A Rice
olem
B Tea
| Correct Answer
C  Coffee
Qe
D Tobacco
6916
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Answer Given By Candidate: A

Question ID:201117
Topic Name:SECTION-II Social Science
Question: The chief coal bearing rock system in India is:

RURGER €514 6RIml IR J2IR Y8R 6L

A Dharwar
GIRN

B  Gondwana "
Correct Answer

6ollealR|

C  Cuddappah
qelde

D Vindhyan
Qg

Answer Given By Candidate:Not Attempted

Question ID:201118
Topic Name:SECTION-II Social Science
Question: \Which state in India is the largest producer of nickel?

RIRGE 699 AURY FERR N 9019 2% LYI9TaIN DUWY 26T ?

A Odisha
6@l

Correct Answer

B Andhra Pradesh
2If 96%al

C  Rajasthan

QAURLID

D Tamil Nadu
9@919@

Answer Given By Candidate:Not Attempted

Question ID:201119
Topic Name:SECTION-II Social Science
Question: \Which is the longest among the following?

FERYS FRIQ 699 A0IQ MEL?
A 90°E longitude

90° E 6Q%I1°%l

B 180° E-W longitude
180° E-W 69%11°¢l
C 0° Meridian
0° QIael
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D All are equal

Q6169 el 298

Correct Answer

Answer Given By Candidate: D

Question 1D:201120
Topic Name:SECTION-II Social Science
Question: The |ongest latitude on the earth’s surface is:

RIS g9 990IQ AL 2ANI°E 6LRE:

A Arctic Circle

eI fa
B Tropic of Cancer
QGG 6l
C Equator g
_ Correct Answer
QYL

D' Tropic of Capricorn

a9 69l

Answer Given By Candidate:C

Question 1D:201121
Topic Name:SECTION-II Science

stion:
RS Addition of salt to ice:

QAFER &l FSIRS:

A Increases the freezing point

PR° 99Q QLIReld

B Lowers the freezing point

ga° a9eq eng 2162Ig

Correct Answer

C Lowers the bailing point
FoQI Tgg 8Rg @t
D Does not affect freezing or boiling point

28| [ PTQ LG INTE K6 Q1T

Answer Given By Candidate: C

Question 1D:201122
Topic Name:SECTION-II Science
Question:

Kelvin is the Sl unit of:

EAMER 6QQ8 YRIA S| YA

A Temperature

elaalgl Correct Answer

B Density
(AR
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C Charge
ol

D Molarity
6UYEIRIRNT

Answer Given By Candidate: A

Question ID:201123
Topic Name:SECTION-II Science

Question: 116 mass per unit volume of a substance is the of a substance.

4@ d9iPia 9RT anys d8l 999 ¥e agila 269 |

A Weight
el

B Solubility
Qe

C Density
Geel Correct Answer

D Resistance

gsequd

Answer Given By Candidate: A

Question 1D:201124
Topic Name:SECTION-II Science

Question: \w/hich one of the following reactions is a balanced reaction?
FIRYS doGa FRIQ 6998 99 AgRE oG 265
4 Cu(s) +0(g) — Cu0,(5)
Cu(s) + 0, (g) — 60, (5)
B Cu(s) + Cl(g) — CuCl,(s)
Cu(s) + Cl(g) — CuCl,(s)

€ Cu(s)+ Cl(g) — CuCl(g)

Correct Answer
Cu(s) + Cl(g) — CuCl(g)

D Cu(s) + H,50,(aq) — CuS0,(aq) + H,(g)
Cu(s) + H,80,(aq) — CuS0,(aq) + H.(g)

Answer Given By Candidate: D

Question ID:201125
Topic Name:SECTION-II Science

Question: \which one of the following is a displacement reaction?
GERSS FRIQ 69615 Ue TS 9EGE 2657

A AgNOs(aq) + NaCl(aq) - AgCl L +NaNO;(aq)
AgNO5(aq) + NaCl(aq) —» AgCl L +NaNO0s(aq)

‘
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heat
CaC0s(s) —> Ca0(s) + CO,(g)

heat
CaC05(s) — Ca0(s) + C0O,(g)

C 2Cu(s) + 0,(g) — 2Cu0(s)
2Cu(s) + 0,(g) — 2Cu0(s)

D CuS04(aq) + Fe(s) = FeS0,(aq) + Cu(s)
CuS04(aq) + Fe(s) — FeS04(aq) + Cu(s)

Correct Answer

Answer Given By Candidate:D

Question ID:201126
Topic Name:SECTION-II Science
Question:

Which principle of physics is used in walking ?
aQ1e TRISR 69Q 616 SIRGIER UGS §9?

A Newton's 3rd law of motion

gUoRE J6Q 36 S

Correct Answer

Newton's 2nd law of motion

QIoq @ CIe 20 Gae
Newton's 1st law of motion

QUER @ TR 161 FaAel

D Law of inertia

PEGIR QEAE]
Answer Given By Candidate: Not A tte mpted
Question [D:201127
Topic Name:SECTION-II Sgience
Question: Coal is:

6RIAl 6LRE:

A arenewable source of energy

JEQ 9@ FRAE6LIGY AL

B 3 fossil fuel

@ 01915 @Ie

Correct Answer
C anon-conventional source of energy
139 IR 28-S KL

D an unlimited reserve

@ 2186 9°84l

Answer Given By Candidate:C

Question 1D:201128
Topic Name:SECTION-II Science

‘
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Question: \w/hich of the following motion repeats itself at regular intervals?

GERGe FRIQ 699 98 RAFS QURUNER JEAGR §9?
A Circular
QAR

B Periodic

delAT6el

Correct Answer

C  Rectilinear

69GRIRGR

I Random

dRes

Answer Given By Candidate:B

Question ID:201129

Topic Name:SECTION-II Science
Question: -
Chloroplasts are one of the types of in a plant cell.

EREAUNE I AEG 66N FRIQ 2AYSEl |

A chromoplasts
(SNSRI
B plastids
QMQ'@Q]\ Ct)l'l'ecl Answer

Leucoplasts
UeRI

D Ribosomes

Q6K

Answer Given By Candidate:B

Question ID:201130

Topic Name:SECTION-II Science
pstion: " < "

Question: \n/hichy'of the following statements is true about the cell membrane?

6QI8 6616518 FHAER FYRYS FRIQ 69K TGE U6?
A |t allows substances to freely enter and exit the cell.
9el §4Q €]® QIR 6QI8 QERG B QILIeg g 2966 6amelld |
B |t prevents cell growth.
gl 6QI9R &G 6T |
C It has nothing to do with maintaining the shape of the cell.

6Q19Q 2155 9@l QYL 986 LR 69168 9t QI |

‘

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

BPEIQ AA8 GF QA g4 Q9 AN

WtsApp/Call- 8596976190
Download “Tech Of World” App

D |t controls which substances enter and exit the cell.

92l GO8¢ S0 64 69@ 991 6QI8 ARG Y699 F6Q 6 AILAG
qleIRag |

Correct Answer

Answer Given By Candidate:D

Question 1D:201131
Topie Name:SECTION-II Science
Question: The yascular system in plants consists of:

QA@G6R 2191 UMY TRCIER TIMES 289

A Xylem only

69YM GIDEmE]

Phloem only

6Q9R 6FNE

C  xylem and phloem

Wlemel 99° 65EN¢|

Correct Answer

D xylem or phloem

QIREME] @ 6FINE

Answer Given By Candidate: A

Question 1D:201132
Topic Name:SECTION-II Science
Question: ga31| openings that are seen on the barks of older trees are called:

gRell I8 BIMER 695l 6815 681%' 65lIMmIg LIdN:

A LenﬂCQIS Correct Answer
Emelcemy

B Cuticles
QUoam,

C Hydathodes
LIR6E62S,

D Epidermis

¥aefig
Answer Given By Candidate: B
Question ID:201133

Topic Name:SECTION-II Science

Question: 1o male parts of a flower are and

66T PR QA 2°] 9Q° 269 |

A anthers, pistil
AUGEL, FRACG

B anthers, filaments

AQUGISIL, CPRICTI

Correct Answer

‘
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C pistil, filaments

PR, PRICAIE

D ovule, stigma

@l ROl

Answer Given By Candidate: B

Question 1D:201134
Topic Name:SECTION-II Science
Question: \which of the following microorganisms was one of the first types of life to

evolve on Earth?

FARGS AGMRANGT FRIQ 606G FANEA TS 681929 MR
goIel IR 1RIQ 6915 22

A Cyanobacteria )
Correct Answer

qRleRIuIeX
B Streptococcus
6REY6RINE
C  E-Coli
R-6QIMm

D Lactobacillus

RICYIUITRE

Answer Given By Candidate: A

Question 1D:201135

Topic Name:SECTION-IT Science
Question: . ’ . .
is a group of bacteria that causes illness in humans.

6208 QUICLAUN IR 66l AL F19TIEH 69Ul Y/
QeI |

A Streptococcus

BREYCRIRL

Correct Answer

Plasmodium

ARICCBLAE]

C Yeast
olENR

D Lactobacillus

RIEFUITRE

Answer Given By Candidate: B
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